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Los al cijferend op.
Schat tot op het honderdtal!
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Los al cijferend op. Aftrekken tot 1000
Schat tot op het honderdtal!
L1158 ES—— A0 262 i 100 =70 = oo 300 G0 s
275 + 649 = = 20-1= e 30-4= 800~70= e B0 A= i
70-1= 1Ty 900 - 70= oo 700-30=...
S 510-8=. : 860~ 5= oo 100 = 90= .o 340 —T=
D H T E 50 B inns 720~ 3= 50090 = .. . -500-50=.
550-8=.. ; 490-9=. . 900~ 90 =" .. ... B60-2=.

LiF-240= 45F - 2co - 40
= S

1)

853 -510 =
39~ 3€ =
806249 = adl
D|H | T)E Tafels
_I L & IS LT = = s Y41 =



Kloklezen

bt 12 .'1"
~10 2~
g %3

> 4

L

Los al cijferend op.
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